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Q1. [4 pts.] Let p be the price in dollars of a particular ittem and s (p) =15(4o_5_0j

be the number sold. Find the domain of this function and sketch its graph throughout
the domain (use at least 5 points).

Q2. [6 pts.] Find the equation of a line (in all three forms) passing through (2,1) and
parallel to the line $x —2y =7.

Q3. [8 pts.] A printing press costs $43,000 when purchased new. After 14 years it has
a salvage value of $8,000. Straight line depreciation is applied to the net value of the
machine over the 14 year period.

a) Find the annual depreciation.
b) Find a linear function that represents the Book Value of the machine during its

lifetime.

c) Graph the function.

d) Using this model find the Book Value after 8 years.



1.8x +3.5y =167
2x +3y =150

Q4. [4 pts.] Solve the system using addition/elimination method {

Q5. [10 pts.] A company that manufactures calculators has found that it has fixed
costs of $1800 per day and it can produce calculators at $10 per piece. It has also
found that it can sell each calculator for $40.

a) Find the Cost, Revenue and Profit functions.

b) Draw the Cost, Revenue and Profit function on the same axes. Find the break-even
point.

c¢) If the company makes 75 calculators a day, is it making a profit or a loss?

d) Find the average cost of making 40 calculators.

e) If 2,500 calculators are produced, find the marginal cost.



Q6. [10 pts.] A car factory produces three types of cars; hatchback, saloon and SUV.
The factory must sell a total of 20 cars each week to meet production schedules.

For painting, the cars are sent to the paint shop where the following times are required
for each type of car: hatchback, 4 hours; saloon, 3 hours; and SUV, 6 hours. The paint
shop can handle a maximum of 74 hours each week.

For assembly each hatchback requires 16 hours, each saloon requires 48 hours, each
SUV requires 64 hours. A total of 848 hours are available for assembly each week.

How many of each type of car does the factory need to produce?

Q7. [6 pts.] Find the solution to the system of linear equations whose reduced-row-
echelon form is given by the following matrices, where a solution exists express it in
terms of z.
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Q8.[6 pts.] Giventhat A=|-3 5| and B = and C = ,
-1 2 0 2

10
a) Find AB
b) Find 3C*+B™*
C) Solve for X in the equation B =2X +2C

X+Yy+2z =5
Q0. [6 pts.] Use the inverse of the co-efficient matrix A™ to solve: y-z=1
2y -z =3



